1.

D 4402

@ 5608

® 1289

@ 5068

® 1340



@ (35, 42) ® (56, 32)

@ (12, 60)

® (32, 40)

@ (27, 45)



(1) (12, 60)

(2) (20, 30)




@ 5 @ 6 @ 9 ® 24

O 2



T A% 7het 1S gt 2ol FAACR tehfedg Ut shet

q
vhe] HABHSE T H02 Qe 2L ol AU

7F=2x3x3x3
H=2x2x3x3x5

® 2x3x3

@ 2x3x5

® 2x3x3x%x5

@ 2x2x3x3x3x%x5

® 2x3x3%x3x2x2%x3x3x%x5



S 299 HH_/IK‘7]'ﬂ_/'\“1_:4o1
@® 765 @ 3276

@ 11126 © 50688



7. PHE IO RE o] & dehd AQUTh & S [9] =
143+9=13 Ayt o] o, [12] + [14] & FSHA 2.

D L
=%



ol A7

<
olJ
e

otpe] A5} 714

8.

@ 10 ® 28 @ 36 ® 25

D 24



s
A

@ 16 ® 24 @ 40 ® 48

D 12



@ 64 ® 14 @ 12 ® 24

D 28



11, 289] o5 Fo4 7bg 2 A A 58 FopA 2.

5 Rog
2%



12, 729] ok FolA 49] 47} HE 52 BT B Y7

e & 4l



13.

48.9] SRSol WAL 4.9 HjSQ) S I

kd = 4l



14.

45.9] SR4o] WAL 3.9 HjSQ) S I

kd = 4l



15.

31 vH=2 100 7R0ll 100 58 1997FA] 9] 2 1704 A o] 4 2] Hj
Q1 HiE o= W7k | 6 o] vlj4=<l i Yol = ohehAl-g HSthd,
A vrEd-e 9 A7t HASEY 7R

e = 4l



16. the 279 JPS 5 T5HAL.

@ 37t 4] v k.
O 59} 69] vij4= Jyrt.
© 1007} 150 Ak0] 9] 4= Yt

D R
=%



@ 200HTt 22 E4-dyrt,
© 259] vyt
© Al A9 Fdyth
® 3509 oFiyth

D R
=%




18. 7I27}63cm , MZ7F 77cm , =017} 112cm 91 A-S&HAA] o] LH
[e]
S

7152 B R0l YEg Sgo] et by 2 AguA olg A4S
AL B W 1A T4 L.

22
e gyt e e

> EE A



19. 8= UrH 30| 1, 128 WeH 70| E1, 152 U+H 100] E=
Al 2] = mE 9 U7

B e 7



20.

5 =S A, BT W AAZE AL syt o v e
AARAAE 122, BARAZE 152 22 o vhq] = F 324 44

ChAl SRl T 27A7) 9 10410 2 aleha chgol] EAlo]
Furekl A2k 9 A B BelR] LA T5HA 2.

S EER A

o

>
=%



